1)A shopkeeper has to pay to a wholesaler a sum of Rs 10028 after 1 year . he wants to pay the debt after 3 months . If the rate of interest is 12% p.a. , how much he will have to pay ?
a)Rs. 9200(a)
b)Rs. 9600
c)Rs. 9560
d)Rs. 9025.20
2)The true discount on Rs 960 due 2 years hence is equal to the simple interest on Rs 750 for 2 years. What is the rate of interest per annum ?
a)12%
b)14%(a)
c)15%
d)17%
3)I bought a bicycle for Rs 1056 in cash and sold it on the same day for Rs 1296 payable after 6 months. If the rate of interest is 12% p.a., how much was my gain ?
a)11.1%
b)12.25%
c)13.6%(a)
d)22.7%
4)If Rs 20 be allowed as true discount on a bill of Rs 260 due after sometime, what will be the true discount on the same bill for half of the time ?
a)Rs. 10
b)Rs. 10.40(a)
c)Rs. 13
d)Rs. 15.20
5)If Rs. 10 be allowed as true discount on a bill of Rs 110 due at the end of a certain time , then the discount allowed on the same sum due at the end of double the time is :
a)Rs. 20
b)Rs. 21.81
c)Rs. 18.33(a)
d)Rs. 22
6)A man purchased a cow for Rs 3000 in cash and sold it the same day for Rs 3660 due to years hence. If the rate of interest is 10% p.a., the man gains :
a)0%
b)5%
c)7.5%
d)None of these(a)
7) A man purchased a watch for Rs 1950 in cash and sold it for Rs 2160 at a credit of 1 year. If the rate of interest is 8% p.a., then the man has 
a)a gain of Rs 210
b)a gain of Rs 50(a)
c)a gain of rs 60
d)a loss of Rs 30
8)The true discount on a sum due 8 months hence at 6% p.a. is Rs 130. The sum due is :
a)Rs. 3120
b)Rs. 3250
c)Rs. 3380(a)
d)None of these
9)The true discount on a sum due 3 years hence at 8% p.a. is Rs 252. The sum due is :
a)Rs. 798
b)Rs. 1050
c)Rs. 1302(a)
d)None of these
10)The present worth of Rs 2800 due 2 years hence at 6% p.a. is :
a)Rs. 2464
b)Rs. 2500(a)
c)Rs. 3360
d)Rs. 3100
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